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1 i i 19, 472, 000 33.7 19, 472, 000 33.6
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3 A F & A & 23, 000 0.0 23, 000 0.0
4 B Y B R & 118, 000 0.2 118, 000 0.2
f’; A %ﬁf P As ij 65, 000 0.1 65, 000 0.1
6 V£ N F BT & 88, 000 0.2 88, 000 0.2
7 M YH B B AT & 2, 566, 000 4.4 2, 566, 000 4.4
8 /L7 RIS 4 26, 000 0.0 26, 000 0.1
9 H B =5 AR RS AT 4B 1 0.0 1 0.0
10 B8 5E M4 g 3 22 A & 44, 000 0.1 44, 000 0.1
11 +§f§f§ﬁ£ kﬁz{ 14, 139 0.0 14, 139 0.0
12 M J5 %¢ B 22 A & 144, 752 0.3 144, 752 0.3
13 R R 323, 215 0.6 323,215 0.6
14 % i % /i\hj H %}’1 12, 000 0.0 12, 000 0.0
15 & kA He 339, 617 0.6 339,617 0.6
16 i I BF & O F 0kt 887, 352 1.5 887, 352 1.5
17 JES S L B 21, 985, 030 38.0 4,140 21,989, 170 38.0
18 X o & 6, 978, 631 12. 1 6, 978, 631 12.1
M E I A 7,701 0.0 7,701 0.0
20 % it & 40, 500 0.1 40, 500 0.1
21 & A & 1, 795, 261 3.1 19, 660 1,814,921 3.1
22 & ik & 1,318, 155 2.3 1,318, 155 2.3
23 § I A 314, 045 0.5 314, 045 0.5
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w AN & 57,846, 800[  100.0 23, 800 57,870, 600| 100.0




(2) Be9Alm

(B2 TH - %)

2K FIERTORE | ML fHIERE it MR
1 #% = # 349, 673 0.6 349, 673 0.6
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3R 5 # 23, 230, 747 40. 2 1,540 23, 232, 287 40. 2
4 f A # 4, 060, 055 7.0 4, 060, 055 7.0
5 57 18 # 75,975 0.1 75,975 0.1
6 = 72N 2 56, 039 0.1 56, 039 0.1
7 P T # 658, 568 1.2 658, 568 1.1
8 + N 2 2, 487, 949 4.3 2, 487, 949 4.3
9 %3] # 1, 463, 526 2.5 9, 660 1,473, 186 2.6
10 % 5 7 6, 305, 363 10.9 6, 305, 363 10.9
1K % # 1B % 1 0.0 1 0.0
12 2 f& # 2, 081, 003 3.6 2,081, 003 3.6
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54 By #H % 16, 269, 259 28. 1 19, 660 16, 288, 919 28.2
6% W AR F R 3, 136, 983 5.4 3, 136, 983 5.4
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8 A & # 2, 081, 003 3.6 2, 081, 003 3.6
9 & ST 4 1, 270, 828 2.2 1, 270, 828 2.2
10 #& i 4 4, 309, 000 7.4 4, 309, 000 7.4
117 fii 2 230, 000 0.4 230, 000 0.4
w & 3 57,846, 800  100. 0 23, 800 57,870, 600[  100.0
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BEE S ROA%E | B RoA%E B oA
[IEA - - . S S 5, 140 699 1,057 4,782
/NN T S S
DN 5, 538 203 471 5, 270
BEORE W S oM B M 724 201 315 610
e I T 4,814 2 156 4, 660
M B B B F+ % & 4
b - e P 322 322
S S (R | S-S~ S 281 28 253
B OOBF K W K 4 38 13 25
T a - R -y E R EY LS 24 12 12
¥ OB B f e RO W B
T T TN A 672 290 152 810
EEI R T 74 4 6 72
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& F 12, 089 1,271 1,739 11, 621
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B =+ 3 fF 8, 747 720 1,014 8, 453
DY = 1 IH 1% 21 35 56
IR 5 Hh Vi = 10, 833 380 962 10, 251
OB # R & 331 87 244
Be B BE OB % K& 10, 502 380 875 10, 007
& & 19, 601 1,135 1,976 18, 760




